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I Definition of nnr janx:

a

b

If: identifies a particular animal — even many — as her payment — the all are prohibited

i Many: clearly if that is her fee — all are 0™ 1OX; rather, her fee was (e.g.) 1 and he added more — all are j3nx nan=>oMOR
If: he identifies an animalas payment for the other’s nnaw to have relations with his slave

i 27 thatis not an nR and it is (or all of them are) permitted

ii  orpom: this is also a forbidden janR

II  xp»a:if he gave her the anx but didn’t have relations with her, or had relations but didn’t give her the 110y, it is 1mn

a

b

Questions: in clause #1 — why is it called "janR"? and in clause #2 — what are we declaring 9mn? He gave her nothing
Rather: read the Xn»11 as excluding a case where he gave her and had relations afterwards or vice-versa
i Question: if he gave her animal first, why doesn’t the jin& become prohibited retroactively at point of nx»a?
it Answer (7rv5% *7): case where she offered it up before nx’a

1 Challenge: if he already gave it to her — it is obviously 91mn (didn’t have nx»a with her at that point)

2 And if: he gave it to her with delayed 1p (‘til nR’2), she can’t be w*1pn it, per v. 1 (7pn must be property of wTjpn)

3 Answer: works if he gives it to her w/delayed 11p & proviso that if she needs it beforehand, it is »p immediately
Question (x2ywix 77): if she went ahead and was v 1pn the animal (before n&’a) — would it be 1mn?
i Challenge: infer from &™’s ruling above —>only if she offered it would it be 91mn, but only w1pn wouldn’t be
ii ~ Answer: that is exactly what R?pwixr "1 is asking —

1 Lemmal: since it was still extant (and, as yet, not yet offered) at time of nx»a — prohibited OR

2 Lemma2: based on rule that commitment to max:handing over to V1717, considered already offered ->amn —p'n
Reexamining 2" clause of #17777: if he had nx»a with her and gave her the jinx afterwards — mn
i Challenge: Rn»11 — even if he gave it to her a year later, 1708
ii  Answer (777 73 217 79): only MR if he identified a specific lamb at time of nx’3; if he just said n%v, then it is 1mm

1 Challenge: when identifying specific lamb — it requires n2*wn (and, per our explanation, it wasn’t there then)

2 Answerl: if the nar is non-Jewish; for whom n2wn isn’t a valid 1ap

3 Answer2: could even be n9r1w nnr (but see below) — if it was in her 1¥n (acquired q¥n )

(a) Challenge: if so, it is already hers
(b) Answer: if he designated it as 'p>may; he commits to pay her but, if he fails to do so, this is her payment

III  Discussion re: range of relationships that “validate” janx

a

b

27 even homosexuality or any of the 11y — only exclusion is marital relations with nm
i Reason: she is not called nnr in text and the Mo'x is defined by "niw” (v. 2)
7% all generate 79oR 1INR including 171 MYR
i Reason: pnR is defined by “naywn” (v. 2) —and nT is also a naymn (v. 4)
ii ~ Challenge: how does "% explain the use of “n1”in v. 2?
1 Answer: that is needed to teach n)1 and not Nt (male prostitute)
2 a7infers Nt and not Nt from »27's kN3, where he excludes nT1 MWYR, payment for “lost time” and nyn
(a) Source: allusion (not full proof) from v. 3 (inversion is not called 11nx)
3 a7 interprets naymn (:»ar) — only nma N, with whom poan pwimp PR, as is the case with mayin (m»y)
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»2x: 103 is only N5 for nrva with nYRIW At (v. 5 — must be wA1); but her 1InR is permitted, as na posn pwr1Tp
N37. 173 is np? for either; 1anR of either one is MOR — as he infers nnr:nT (vv. 2, 5)
i Challenge (to »a8): ruling that 11nR of either is prohibited, using »"n2% N>R as example
ii  Answer: that follows »" — that 1R ¥27”N2 pPoan PYITP PR = even 3"N3% MINYR is a NNTDNOR NANR
1 N7 reason MnYR was used as example - as model
(@) Just as: nmOR isn’t liable until there is NXINN
(b) So too: 1R is only Mor if the man declares that he is giving it to her for her “services”
(i) Contra: ®™’s opinion that n»man Yy Ran Mma >,
(if) But: where she was already a n1t (i.e. “available to all”) — the j3nR is MoR
iii ~ Alternate version: that Rn»11 is referring to a case of na pPoan PVITP PR
1 Challenge: X2 includes (as examples) 3”n2% NanYR, VYT 113Y NWVIN — where PYVITP are DAN

(a) Answer: that follows 8™ (but see a8 1321 0”7 7w where he offers alternate read) — nan Yy ®an Mg >nnr

(b) Question: if it is 8", why not use n9 as example?

(i) Answer: R"10 that only where there is no other Moy, it is an j1nR =P teaches that P1RY 7270 also make R

IV Analysis of 2n case in mwn — where one slave-owner pays another to have his 72y have relations with the other’s nnaw

a

b

Challenge: an T2y is permitted to have relations with a nnaw (2should not be 11nx)

Answer1: the real intent was for him to have nx’a with nnaw (spoke euphemistically)

i Challenge: if so, why does 27 permit?

Rather: it really means “his slave” — but he is an »ay T2y

i Challenge: then why do 1127 forbid — that relationship is permitted

ii ~ Answer: case where the T2y is otherwise single, in which case he is not allowed to have a nuy1 nnaw-wife
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